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Name: __________________________________



1
What is the product of [image: image1.png]


 and [image: image2.png]


 expressed in simplest form?

	1)
	x

	2)
	[image: image3.png]=





	3)
	[image: image4.png]




	4)
	[image: image5.png]=
3







2
What is the product of [image: image6.png]


 and [image: image7.png]


 expressed in simplest form?

	1)
	[image: image8.png]4x





	2)
	[image: image9.png]




	3)
	[image: image10.png]A
D)





	4)
	[image: image11.png]dx+1)
3







3
Express the product of  [image: image12.png]=
3



 and [image: image13.png]4x+20




 in simplest form.

4
If the length of a rectangular garden is represented by [image: image14.png]2 ax

X +2x-15



 and its width is represented by [image: image15.png]


, which expression represents the area of the garden?

	1)
	[image: image16.png]




	2)
	[image: image17.png]




	3)
	[image: image18.png]a2
205






	4)
	[image: image19.png]x+5







5
What is the quotient of [image: image20.png]x
T+4



 divided by [image: image21.png]


?

	1)
	[image: image22.png]




	2)
	[image: image23.png]




	3)
	[image: image24.png]




	4)
	[image: image25.png]






6
The expression [image: image26.png]2+ 0x-22

- (2-%
o T@ P



 is equivalent to

	1)
	[image: image27.png]




	2)
	[image: image28.png]




	3)
	[image: image29.png]11-x





	4)
	[image: image30.png]






7
Perform the indicated operation and express the result in simplest terms:  [image: image31.png]




8
Express in simplest form:  [image: image32.png]




9
Perform the indicated operation and simplify:  [image: image33.png]3x+6 x-4
dx+12 xe3






10
Express in simplest form: [image: image34.png]s S L 23

-49 xPizx-56






11
Express [image: image35.png]


 in simplest form.

12
Express in simplest form:  [image: image36.png]L S S
-0 Z=-10






13
Perform the indicated operations and express in simplest form: [image: image37.png]W alax-15 3 -3x
Prx-15  x-xt






14
Express in simplest form:  [image: image38.png]




15
Express [image: image39.png]32+ 2x-12-982°
Tox+ 3 6+dix




 in simplest form.

16
If [image: image40.png]_m-
= Tex+ 0

f(x)



 and [image: image41.png]g(x)

3%

2 -Txe12

—7x-20



, find [image: image42.png]


 for all values of x for which the expression is defined and express your answer in simplest form.

17
Perform the indicated operations and express the result in simplest form:  [image: image43.png]1y | (@)
e I






18
Perform the indicated operations and simplify completely:  [image: image44.png]sx-x

X -5x x-x-12 x-8x+16





19
Express in simplest form: [image: image45.png]4748 2-x
T+l m-15






20
Perform the indicated operations and simplify completely:  [image: image46.png]3 +6x-18 2x-4  x'+2x-3
2 -ax -3 l6-x







1
ANS:
4

[image: image47.png]s x+3 _ @+DGE-1 x+3 _x+3
3

T+l 3x-3° x4l 3GE-1)





REF:
060815ia

2
ANS:
1

[image: image48.png]ax GrDE-1) 4

= ECT) 3





REF:
080826ia

3
ANS:


[image: image49.png]x+2 _4@+5)  2x+5)
7 GG xed




REF:
081232ia

4
ANS:
4

[image: image50.png]xHx+2) | 2Ax-3)_ x
G+(x-3) 2Ax+2 x+5





REF:
080117b

5
ANS:
4

[image: image51.png]161 x+DE-4)  x-4
x+4 I x+d 2 T2





REF:
081130ia

6
ANS:
4

[image: image52.png]x4+ 9x-22 (x+11)(x-2) - -1

TR ki o )y Ry A




REF:
011423a2

7
ANS:


[image: image53.png]


.  [image: image54.png]1 &)= _x-3
T3 3





REF:
080022a

8
ANS:


[image: image55.png]


.  [image: image56.png]8x_2x __ 8x  x+4
P16 x+4 (x+d)x-4) 2x

4
-4




REF:
010935a

9
ANS:


[image: image57.png]


.  [image: image58.png]Ixe6 x-4 3@+ x+3 3
ax+12° 743 4x+3) x+(x-2) Ax-2)





REF:
010935ia

10
ANS:


[image: image59.png]Poaoxels  Sxes @+ NE+Y @G+8E-T) x4

P40 rx-s6 G+DE-T 3@+ 3





REF:
061037ia

11
ANS:


[image: image60.png]Ix(x+3)  x-DE+D  3x
GG+ GrNE-3) 143




REF:
081338ia

12
ANS:


[image: image61.png]Pasxrs Hrx-6_(@+HE+2)  2x-5) 2Ax+2)
For- Z-10 T G-9G+d) GrNE-2)  GrdE-2)





REF:
061638ia

13
ANS:


[image: image62.png]


.  [image: image63.png]37 +12x-15 37 -3z 3(+4x-5) 2G-n) (+)E-) G-2) 3-x
P13 mew e ad) Gl a3 o) =3





REF:
010928b

14
ANS:


[image: image64.png]3%



.  [image: image65.png]wiogx-41 -9 AP -4x-20) G- G-+ 1 x-7

o - o G HE-3) 3 x+3 &




REF:
080937ia

15
ANS:


[image: image66.png]


.  [image: image67.png](Fx-Dx+1)  6(1+7x)  (Tx-1)(1+7x)

3o D) (-5 -0+





REF:
061028b

16
ANS:


[image: image68.png]=
3



.  [image: image69.png]30 -27 A -Txel2  3x-9) 3'-Tx-20_ (x+ Hx-3) GxeSHa-4) _x+3
18x+30 31 -7x-20 6(3x+5) R -Tx+12  20x+5) (x-4)(x-3) 2





REF:
060727b

17
ANS:


[image: image70.png]1027y ) -yt 1027y . ) . 5° 2
el o i e el e} E3 GNE-y | x-y




REF:
011539ia

18
ANS:


[image: image71.png]


.  [image: image72.png]GHHE-3)  x5-x)  G-HE-4_@-36-n _
Hx-5 -HE+3)  x-4 -5

~(x=3




REF:
010733b

19
ANS:


[image: image73.png]


.  [image: image74.png]A4x+2) -1x-2) 2x" -4x-5) _-8(*-4x-5 _-Bx+D(x-5 _ 8

+1 3x-5 G-+  x+Dx-5  3a+Dx-5 3





REF:
010434b

20
ANS:


[image: image75.png]-2(x" + 6)



.  [image: image76.png]PE-D+6G- -4 Ps2-3
2 -dx -3 16-x
G +6)x-3) 2x-2) @+DE-2)
(x-4)  P-3) G+HE-2)

-2z’ + 6)

=




REF:
011239a2


